1510-Spring preloaded double nut

o oy abt i il o o etV e Ui e et S o B an e Nombol o1y P snan Thead Ol gy Prlohackio
[kN] load FROM TO [mm] [mm] flat flat [mm] [mm] capacity starts [mm] [mm] [mm] mm] [mm] [mm] capacity style [mm] [mm] circles backlash
[kN] [Ncm] [Nem] [mm]  [mm] [kN] kN1
1510/0,5.3.44.85 3 0,5 20 9 23 0,09 | 1510 B 44 85 2x2 0,6 1 0,09 0,01 | 0,006 | 04 | 08 5 M6 P Preload
1510/0,5.3.64.105 3 0,5 50 9 23 0,09 | 1510 B 64 105 | 2x2 0,6 1 0,09 0,01 | 0,006 | 04 | 08 5 M6 P Preload
1510/0,5.3.76.90 3 0,5 45 9 23 0,09 1510 A 76 90 2x2 0,6 1 0,09 0,01 0,006 04 08 5 M6 P Preload
1510/0,5.3.94.135 3 0,5 80 9 23 0,09 1510 B 94 135 2x2 0,6 1 0,09 0,01 0,006 04 08 5 M6 P Preload
1510/0,5.5.125.165 5 05 80 15 36 0,10 1510 B 125 165 2x2 0,6 1 0,10 0,01 0,006 05 1,0 6 M10x1 P Preload
1510/0,5.5.65.105 5 0,5 20 15 36 0,10 | 1510 B 65 105 | 2x2 0,6 1 0,10 0,01 | 0,006 | 05 | 1,0 6 M10x1 P Preload
1510/0,5.5.90.110 5 0,5 45 15 36 0,10 | 1510 A 90 110 | 2x2 0,6 1 0,10 0,01 | 0,006 | 05 | 1,0 6 M10x1 P Preload
1510/0,5.5.95.135 5 05 50 15 36 0,10 1510 B 95 135 2x2 0,6 1 0,10 0,01 0,006 05 1,0 6 M10x1 P Preload
1510/0,5.8.110.168 8 0,5 70 20 40 0,20 1510 B 110 168 2x2 0,6 1 0,30 | 0,015 0,01 07 | 15 10 17 8 4,5 M1dx1 P Preload
1510/0,5.8.140.198 8 0,5 100 20 40 0,20 1510 B 140 198 2x2 0,6 1 0,30 | 0,015 0,01 0,7 | 15 10 17 8 4,5 M14x1 P Preload
1510/0,5.8.145.170 8 0,5 | 100 | 20 40 0,20 | 1510 A 145 170 | 2x2 0,6 1 0,30 | 0,015 0,01 07 15 10 17 8 4,5 M14x1 P Preload
1510/0,5.8.190.248 8 05 | 150 | 20 40 0,20 | 1510 B 190 248 | 2x2 0,6 1 0,30 | 0,015 0,01 07 15 10 17 8 4,5 M14x1 P Preload
1510/0,5.8.245.270 8 0,5 200 20 40 0,20 1510 A 245 270 2x2 0,6 1 0,30 | 0,015 0,01 07 | 15 10 17 8 45 M14x1 P Preload
1510/0,5.8.80.138 8 05 40 20 40 0,20 1510 B 80 138 2x2 0,6 1 0,30 | 0,015 0,01 07 | 15 10 17 8 45 M14x1 P Preload
1510/1.12.110.180 12 1 50 24 49 0,80 1510 B 110 180 2x2 0,8 1 1,30 0,05 0,04 1,0 | 2,0 10 22 | 10 6,5 M18x1 P Preload
1510/1.12.160.230 12 1 100 24 49 0,80 1510 B 160 230 2x2 038 1 1,30 0,05 0,04 1,0 | 2,0 10 22 | 10 6,5 M18x1 P Preload
1510/1.12.210.280 12 1 150 | 24 49 0,80 | 1510 B 210 280 | 2x2 08 1 1,30 0,05 0,04 1,0 | 2,0 10 22 10 6,5 M18x1 P Preload
1510/1.12.260.330 12 1 200 | 24 49 0,80 | 1510 B 260 330 | 2x2 0,8 1 1,30 0,05 0,04 1,0 | 2,0 10 22 10 6,5 M18x1 P Preload
1510/1.12.310.380 12 1 250 24 49 0,80 1510 B 310 380 2x2 0,8 1 1,30 0,05 0,04 1,0 | 2,0 10 22 | 10 6,5 M18x1 P Preload
1510/1.12.355.397 12 1 300 24 49 0,80 1510 A 355 397 2x2 08 1 1,30 0,05 0,04 1,0 | 2,0 10 22 | 10 6,5 M18x1 P Preload
1510/1.12.410.480 12 1 350 24 49 0,80 1510 B 410 480 2x2 08 1 1,30 0,05 0,04 1,0 | 2,0 10 22 | 10 6,5 M18x1 P Preload
1510/1.12.510.580 12 1 450 24 49 0,80 1510 B 510 580 2x2 0,8 1 1,30 0,05 0,04 1,0 | 2,0 10 22 10 6,5 M18x1 P Preload
1510/1.3.44.85 3 1 20 9 23 0,20 | 1510 B 44 85 2x2 0,8 1 0,30 | 0,015 0,01 0408 5 M6 P Preload
1510/1.3.64.105 3 1 50 9 23 0,20 | 1510 B 64 105 | 2x2 0,8 1 0,30 | 0,015 0,01 0408 5 M6 P Preload
1510/1.3.76.90 3 1 45 9 23 0,20 1510 A 76 90 2x2 0,8 1 0,30 | 0,015 0,01 04 08 5 M6 P Preload
1510/1.3.94.135 3 1 80 9 23 0,20 1510 B 94 135 2x2 08 1 0,30 | 0,015 0,01 04 | 08 5 M6 P Preload
1510/1.6.125.165 6 1 80 15 36 0,39 1510 B 125 165 2x2 08 1 0,61 0,02 0,015 05 1,0 6 M10x1 P Preload
1510/1.6.65.105 6 1 20 15 36 0,39 | 1510 B 65 105 | 2x2 0,8 1 0,61 0,02 | 0015 | 0,5 | 1,0 6 M10x1 P Preload
1510/1.6.90.110 6 1 45 15 36 0,39 | 1510 A 90 110 | 2x2 0,8 1 0,61 0,02 | 0015 | 05 | 1,0 6 M10x1 P Preload
1510/1.6.95.135 6 1 50 15 36 0,39 | 1510 B 95 135 | 2x2 0,8 1 0,61 0,02 | 0015 | 0,5 | 1,0 6 M10x1 P Preload

Page : 1/1



